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Time : Three hours

Maximum : 75 marké
SECTION A — (10 x 2 = 20 marks)"
) Answer ahy' TEN quégtipns. |
Define the term finance.
B eremugen @mé§mTLb 5(H5.
What are the ways to obtain long term sources of finance?
- pearsre ffow QupeisHaTar m@@mﬁ)adr WLITenau?
List out the functions of financial man;lgement.

BHuGwied Cuoeramenoufer Liafismer mrﬂm&uu,@)ggﬂ&:

~

finansial Mansnemenk.

What do you mean by financial leverage?-

;_F,]g,]u_‘ﬂu_lsi; HDOTSTUILD GremDTed retnes?

Give the meaning of debt-equity ratio.

&6 FLOLIKIEG QIEISD eramugen QUTEHET S(He.

Write a short note on net income approach of capital structure.

gpevgen el Blar eumorer SigiGuanenwls LHH An oy
S, . .

State the different methods of computation of cost of capital.
apogen é{l%éz&g’;mg sansS P LoCain Wapsmar GHAGS.
Distinguish between historical cost and future cost.

Ggraend SILsasHDGL adisne LE5HDGD @ Cuiimear
Caumum’ iy vans H15s.

What do you mean by permanent working capital?

!f)"T.LBﬁU BEOL(PD (PSE Gr_drprr& cTesau?
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10.

11.

12.

13.

14.

What dre the 'com-ponents of working capital?
BOLAPD APDSETSE6T APSsmNISET Lireneu?
What do you mean by dividend policy?
UBISTSTLIS Qa;rr.eimn&s GTEITDITE) GT6oTEN P’
State the advantages of stock dividend.
g,mé;asﬁ u'réja;rr_g,rru;lgﬁsh BETENLOSENETE; EA9@s.
. SECTION B — (5 x 5=25 marks)

Answér any FIVE questions.
Discuss the objectives of final-l(':ial management.
BlHluwicd Guerarrenioudiest GprfésasréjasméT efleurfl.

‘Sarathy limited are engaged in retailing. You are required to
forecast their working capital requirement from the following
information. ' :

Annual sales Rs. 6,50,000; -

Percentage of net profit-to cost of Sale_g 25%

‘Average credit allowed to debtors 10:weeks

Average ;:redit allowed by c;';a‘ditOrS 4 weeks =

Average stock carrying (in térms of sales requirement) — 8 weeks
Add 20% to a]lo'.w for contingehcies. ‘ —

smpd SBGL. Howey eNwrumpsed FEULGeTaant. Spébseri
eflurtisaflelmbsl a{mrrasaﬂm me@mm WPSD Gg,mmmu.m;
sansE (D&, ;

eg_,m@ aﬁ]g)ucmvr a5. 6,50,000

eflpiemen iLsseflaauich Hlay @a)rrum 5%

a;;mrr@ﬂ&@&;@ QUIPBISLILIGID syma sLan &reoid 10 G)JI'I’IIH.E.J&S'GiT
SLeﬁpGg,nn ml‘pm@'m gpnafl sLeh srevld 4 eumFmISET

synafl spsdmuy (epuemer Caama éuq_uuml_ufﬂa)) 8 aunmigeT

. BapeuaL flapslsa@psats 20% s Lajb.
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24.

A company wishes to determine the optimal capital structure.
From. the following selected information supphed to you,
determine the optimal capital structure of the company

Sltuat1on Capital Debt Equity After taxcost Ke

Rs. - . Rs. - of debt
1. 4,00,006 1,00,000 9% 10%
2. 2,50,000 2,50,000 . 6% 1 11%
3. 1,00,000 4,00,000 5% 14%

@@ Hlmiod 2 s (gaa:gsarr <l Blimorefl&es &g@gﬂgg@ &G .
Qer@ésiuL@arar sasosalldimbs Bpwsdar 55w apogar
DiemwLlimu Bioraflssab.

Gpfoe  sLar - ukg. ofsgOng Ke

. (1. S 6 3|L_SSLD
- 4,00,000 1,00,000 9% 10%
'2.,5_0,000 ’2,50,000 < 6% 11%
1,00,000 ~ 4,00,000 - 5% 14%
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22.

23.

Sales of a company is Rs. 75,00,000. Fixed expenses amount to
Rs. 6,00,000 and the variable expenses is Rs. 42,00,000. Equity
share capital of the company is Rs. 55,00,000. The companys
loan amounts to Rs. 45,00,000 at the rate of 9% interest. Find
out

(@) Return on investment

(b) Whether the financial leverage is favourable

(¢) Calculate combined leverage

(d) If sales decreases to Rs. 50,00,000. What is EBIT?

@@ Bmwsdler ellpueer ep. 75,00,000. flaas Qeway ap. 6,00,000,

orod  Cgevellemd 5. 42,00,000. gewm  FoUMIE ep@SELD
&. 55,00,000 @iz sL_ain @ 45,00,000, 9% aul’ g afsgsd
(<=1) <iBHmwsHen pseS iy e CLifled FGHib eumeumil wirg?
(=) B Qbﬁ)g)a)ng,nm@ FTHEHLDNG 2_GTETST?
(@) aa;l;(@ <L DDOTSMUILD cTemen?
(F) izt efpuean ep. 50,00,000 aran @G@DHSTO Gl lg. LHMID
auflé&@ pHensSW @eMUID eTeueu6Tey?
Following are the details regarding three companies.
‘A’ Ltd ‘B’ Ltd ‘C Ltd

r=15% r=10% r=8%

Ke=10% Ke=10% Ke=10%

E=Rs. 10 E=Rs.10 E=Rs. 10

Calculate the value of equity share of each of these companies
under Walters approach when dividend pay-out ratio is

(a) 0% (b) 50% (c) 60% (d) 100%
epem) Slmimaisefier eflLiFd e momm)
‘A fmwd B Hgwnw  ‘C Hywin
r =15% r=10% r=8%
Ke=10% Ke=10% Ke=10%
E=Rs. 10 E=Rs.10 E=Rs. 10
aureoL T apeppulled apermy  Fmiohiseflen - soukiflear  wHLG9man
Hemeu(mpLd LIBISTSTL 6ulpmhi@ eE gD CLing samadeywb.
(=) 0% (<=4) 50% (é) 60% (rr) 100%.
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15.

16.

17.

From the following information you are required to find out the

-extent of operating leverages in the year 2001.

. Rs. Units
EBIT (2000) 30,000 Sales (2000) 1,50,000
EBIT (2001) 35,000 Sales:(2001) 1,80,000

Spsasam_  lurmsealadimbg - 2001 b T HETE  BOLAP®D
QAL CaTell6n eTaney saréd (B buly CouamLLHEDS.
5. DV G&HET
EBIT (2000) 30,000 &fpuener (2000) 1,50,000
- EBIT (2001) 35,000 e9puenar (2001) 1,80,000

The market price of a share is Rs. 140 and a company plans to
pay a dividend of Rs. 9 per share. The growth in dividends is
estimated at the rate of 10%. Find out the cost of equity capital.

@ utiflar speng Wiy m. 140, wpmid Hmwd ukdHE @m. 9 eisn
LRSTSTWID ‘Cerhéss Sl Gereng. LhsrsTw eueriéfl eldsw
10%  erem Grﬁfrljurrfré;a;_uu@é]g)g,j. srgmpesr  umkder  SienL
s (HLlig &s. '

From the following data, find the value of each firm as per the
MM approach. ,

Firm ‘A’ Firm ‘B’
EBIT Rs. 1,560,000 Rs. 1,50,000
Number of shares 30,000 25,000

12% Debentures - Rs. 90,000

Every firm expects 12% return on investment.
Gemaupd  fuphisefalpig MM s@mEwople @G
fnearsHnEn wilimus sarsd(s. '
fpeuend ‘A’ fimeuend ‘B’
ey aufl Ae@sgib e @aorud a5, 1,560,000 ep. 1,50,000
LG satlen ereirenflEeana 30,000 25,000
12% sLem LgHyd - - 5. 90,000
euteurm Himeuarglen erdiummiy psed tqen g 12%.
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18.

19.

20.

21.

The present share capital of Arul Litd consists of 1,000 shares Average  Estimate for
selling at Rs. 100 each. The company is contemplating a period of the first year
dividend of Rs. 10 per share at the end of the current financial it Rs.
year. The company’s capitalisation rate is 20% against risk. The .
company expects to have a net income of Rs. 25,000. What will Other overheads 2 months 7,50,000
be, the price of the share at the end of the year if (a) Dividend is Sale Tl 200
not declared and (b) Dividend is declared? d R LB
e T e e it LEiGpse, 1,000 Lkigsst d. 100 Credit sales 2 months 60,00,000
cigd elppdler 2 ememhdwerarg). - By BHuneamger . QmSluded Average amount of the stock
Apiod uEGsTasE . 10 efsb LRETSTUDL euPRE 2 drong. and work in progress LS _ 4,00,000
Powsder Quidpdsdyrer apogar ofsbd 20% e Hgon : |
-Average amount of undrawn profit - 3,00,000
adiuniégd Her Qeomubd . 25000 aefid (o) uheTsTWD
fj&?irawgﬂiué@;aﬂmmmgL:recr(?zmc:z];;rrﬁg;m =i sﬁ]g,g, Cumgid It is to be assumed that all expenses and income were made at
@ m & event rate for the year.
A Ltd Co has the following details. r = 15%, Ke = 10%, E = Rs. 8
Calculate the value of an equity share when dividend payment &g;a;a;mn_ SHBIE = sl O ppiaS e 1M oo G&Lﬁymg"gm pLuy
ratio is 50% under Walters approach. : g Comailmans saursd (s,
A Ppuangden eNuyrisser 9emeumLmD. synaf sLe WP
a1 =103 - ‘ &TQLD 2T (HNEHTE
r=15%, Ke = 10%, E @.-8 DBUSH .
uisrsTw Ceasgind oNfsn 50% erefled swLR el i nRer , ,
T @mp%ﬁ i 55. ~ . G Al 108 epeIAUTHET AsTdrapse 6 aunpiiser ~ 26,00,000
G]S] 1 - . .
SECTION C — (3 x 10 = 30 marks) o 1 % aunpruger 19,50,000
: Cuadlss @ i
Answer any THREE questions. LR Gzpeiad
. » auteng eufl apsedlwer 6 LTHEEE 1,00,000
Describe the different short term sources of finance. e S '
Goswu sre fiflaw QuneusHarer udCam anflapampsmer efeur. 0 1 omgid il
. , : WnG & Q i BIGG 7
From the following details you are required to make an G AT SaT ST ,20,000
assessment of the average amount of working capital efdLienen Qpraésid 2,00,000
requirement of Meenakshi Marbles Ltd.
e Estimate for sLam eflhuener 2 rgBIgeT 60,00,000
periqdr of the first year gynaf] &ua;é]@uq u)gpgu_o @Lq_u_lrrg,
credit Rs. gv&@ = 4,00,000
Purchase of material . 6 w’eel_gs 26,00,000 - @é;asuu.l_r'rg, e S e i 3,00,000
Wages 1 % weeks 19,50,000 '
Overheads : : b5 Y@mgd mansgl cupellambis@nd, Aswelamis@sb siaisso
Rent rate 6 months 1,00,000 Qelwtiu@denpar eran oigiorefssILEADES!.
Salaries 1 month 8,00,000
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